
 +1-760-591-7383   fxl.com

Replacement Parts 

DESIGNER | PATH LIGHTS | MODERN MP-30 PETITE PATH LIGHT  

ITEM DESCRIPTION PART #

1 Riser/Housing Assembly †

2 Screw, M3 x 0.5 mm, 10 mm 250035360000

3 Housing, Top †

4 LED Board See LED Chart

5 Reflector 250035410000

6 Screw, M3 x 0.5 mm, 5 mm 250035380000

7 Socket, 10' (3 m) 752601

8 Cable Alignment Plug 250035510000

9 Diffuser 250015840000

10 Gasket 250035330000

11 Lens 250035340000

12 Housing, Bottom †

13 Screw, M3 x 0.5 mm, 6 mm 250035500000

10-13 Faceplate Assembly MP30-LF-XX*

14 Screw, M5 x 0.8 mm, 6 mm 250035880000

15 Adapter, 3/4" SCH 40 to 1/ 2"-14 NPSM 250035490000

16 Large Slot Spike 250015840000

17 Conduit Stake, 3/4" SCH 40 250028770000

18 Conduit Stabilizer †

17-18 Conduit and Stabilizer Kit CS-KIT-MPJ

NS Hex Key, 2.5 mm, Short 250038350000

NS = Not shown
*XX = Finish code
† This part is not serviceable. Contact Customer Support or a local distributor to 
order a replacement product.

E0000 AAA 7/22/2012

REV ECO REVISION DESCRIPTION DRFT DATE

ITEM NO. PART NUMBER DESCRIPTION Domestic, 
Integrated

1 2500353100XX HOUSING, TOP, MP-30/31 1

2 2500353000XX HOUSING, BOTTOM, MP-30/31 1

3 250035410000 1

4 250024620001 PCA, LED, 1X, RECTANGULAR, ZDC 1

5 250035360000 Screw, SCH, M3 X 0.5 MM, 10MM LG, SST 4

6 250035380000 Screw, SCH, M3 X 0.5 MM, 5MM LG, SST 2

7 250035340000 LENS, MP-30/31 1

8 250035330000 GASKET, MP-30/31 1

9 250035510000 CABLE ALIGNMENT PLUG, RP-32/33 1

10 250035500000 Screw, SCH, M3 X 0.5 MM, 6MM LG, SST 1

11 7526xx CONNECTOR OVERMOLDED 1

12 250035880000 SCREW, SET SH, M5 x 0.8 MM, 6 MM LG, SST 1

13 250035490000 1/2"-14 NPSM MOUNT, Petite Modern Pathlights 1

14 250015840000 LARGE SLOT SPIKE (LSS) 1

15 250035420000 DIFFUSER, RP-32/33 1

16 25003539XXXX ASSY, RISER/COVER HOUSING, MP-30/31 1

MATERIAL:

PRODUCT:

DRAWN
BY:

1/26/2024

SIZE: B

THIRD ANGLE PROJ.

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005

SHEET  1  OF  2

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

±1°ANGLES:

1:8

DO NOT SCALE DRAWING

ALL DIMENSIONS ARE IN INCHES

SURFACE FINISH:

UNLESS OTHERWISE SPECIFIED:

PRINT
DATE:

REV.DRAWING NO.

SCALE:

Material
Spec:

Color:

TITLE:REL.
DATE:

DIMENSIONAL
TOLERANCES:

CONFIDENTIAL AND PROPRIETARY
THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR 
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER. 
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC. 

 B1 FORMAT REVISION 1 / 11 / 2018

DENOTES CRITICAL INSPECTION POINTS
DENOTES FUNCTIONALLY CRITICAL POINTS

NOTES: UNLESS OTHERWISE SPECIFIED

  1.      INTERPRET DRAWING PER ASME Y14.5M-1994.
  2.      REFER TO HUNTER POL1002 FOR AN 
           EXPLANATION OF THE FX PART NUMBERS.

3.    APPLY TWO PART BLACK URETHANE POTTING, PN: 041108-FC-4 (ELLSWORTH ADHESIVES), 
          IN THE CUP ON THE UNDERSIDE OF BODY TO SEAL SOCKET TO BODY.
  
  4.     BASE MODEL SHOWN. REFERENCE BOM MATRIX FOR ADDITIONAL OPTIONS. 

3

6
5

11
10

7

14

15

16

13

8

4

12

2

9

1

DIMENSIONAL
TOLERANCES:

REL.
DATE:

MATERIAL
SPEC:
PRINT
DATE:

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005
DRAWN
BY:

THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER.
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC.

E0000 AAA 7/22/2012

REV ECO REVISION DESCRIPTION DRFT DATE

A

B

C

D

4 3 2 1

TITLE:

COLOR:

SCALE:

DRAWING NO. REV.

UNLESS OTHERWISE SPECIFIED:

SURFACE FINISH:

ALL DIMENSIONS ARE IN INCHES

DO NOT SCALE DRAWING

1:1

PVC PIPE STABILIZERKL

250030990000
ANGLES: ±1°

C

D

A

B

4 3 2 1

SHEET  1  OF  1

THIRD ANGLE PROJ.

CSIZE:

10/1/2020

PRODUCT:

MATERIAL:

CONFIDENTIAL AND PROPRIETARY

C1 FORMAT REVISION 11/20/2017

DENOTES FUNCTIONALLY CRITICAL POINTS
DENOTES CRITICAL INSPECTION POINTS

°

E0000 AAA 7/22/2012

REV ECO REVISION DESCRIPTION DRFT DATE

A

B

C

D

4 3 2 1

DIMENSIONAL
TOLERANCES:

REL.
DATE:

TITLE:

COLOR:

MATERIAL
SPEC:

SCALE:

DRAWING NO. REV.

PRINT
DATE:

UNLESS OTHERWISE SPECIFIED:

SURFACE FINISH:

ALL DIMENSIONS ARE IN INCHES

DO NOT SCALE DRAWING

1:1

ANGLES: ±1°

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

C

D

A

B

4 3 2 1

SHEET  1  OF  1

.XX = ±.01
.XXX = ±.005

.XXXX = ±.0005THIRD ANGLE PROJ.

CSIZE:

DRAWN
BY:

PRODUCT:

MATERIAL:

THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR 
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER. 
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC. 

CONFIDENTIAL AND PROPRIETARY

C1 FORMAT REVISION 11/20/2017 

DENOTES FUNCTIONALLY CRITICAL POINTS
DENOTES CRITICAL INSPECTION POINTS

17

18



 +1-760-591-7383   fxl.com +1-760-591-7383   fxl.com

DESIGNER | RECTANGULAR LED BOARD REPLACEMENT 

DESCRIPTION PART #

1 LED (2700K), Horizontal Pin 755903**

1 LED (3900K), Horizontal Pin 755904**

1 LED, Zoning/Dimming (2700K) 755905**

1 LED, Zoning/Dimming (3900K) 755906**

1 LED, Zoning/Dimming (TURTLE) 755909

ZDC Linear Board, Horizontal Pins, Amber ZDC-KIT-R**

LED Chart

**Includes LED board only

FXLIT-027   MP-30   4/24


